KI}, R¢= 680 0, Rg= 2.2 K0, the voltage source Vs= 10 V, and th
source ls=0.5 A?

2) Measure [y, Iz, and Vs using superposition method using the following table?

cu rﬁ:m

1} Please connect the following circuit, where Ry= 1 KO, Ry= 2.7 K;L/ . Ql 5

I I3 Vs
fi =52 22\ Fodl W\ -
£.%2 51 I7 Vs \
Lot g | Vel ~d 4o F
"’ll"' !“ II pv;ﬁ;g{
Ay .’E'__ S.E'FI" i
Rl o
1k
WA
——a
I1

L ; 3} Cnlmlnle the absorbed powcr at Rs? F o

4) Mmmrc the cquivnlmt rmstance seen hyRs. s j_
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Quesﬁnn 1 1I-"u'hir_:h of the following statements does not represent nh;'::'s law?
1. current / patential difference = cons
2. potential difference / current = co
3 tial difference = current x resfstance
ifference )

Question 2 The unit of resistivity is __ 2 ~ M f\M

1.0hm

3.ohm-m - -
4.mho -
= 5 Y
Question 3 Three resistors 2 £, 3  and 4 2 are connected so that the equivalent resistance is 9 {3 . The
resistors are connected '

|

2. all in paralilel i , :
3.2 02 and 3 Q in parallg] and the combination in series with 4 2

4.2 82 and 3 £2 in serigs and the combination in parallel to 4

Question 4 Kilowatt - hour is the unitof ___ 3
: Lpatentfal difference
~ * 2.electric power
- (3.electrical energy |
: 4 charge -

' -_Quesiiun'ﬁ Fﬁfhen a fuse is rated 8 A, it means a0

(Zithasaresistance of §
3K wiil wgrk__oglﬁf curre
. it will melt if current extee




AT s

' : N isknownas ___
Queatlon 6 T'he device used for measuring potential difference is k

I, potentiometer
J.ammeter
3, bulvmmmc!er

(3, volmeter )

’ 0 ints i ic circuitisa
Queation 7 The work done In moving a unit positive charge across two points in an electric ¢
measure of

lcurrent
(2 potential dlﬂtrcncc \
3. redistance ™ e

4. power

Question 8 ‘The potentinl at a point is 20 V, The work done to bring a charge of 0.5 C from infinity to
this point will be "

10T -.. | b
2,10J) | b
3, 51

'_Qucsﬂon 9: Joulc/Coulomb is same as L £ e

1, walt
2.valt _
: 3 nmpcrc
- ~4.0hm

. Qucstlon lO Hcm produccd in a currcnt carrymg wire in Ss is 60 I}, The samc currcnt is passed through
-"unmhcr wire of halt’ thc eslstnncc. Thc heat produced In 5 s wlll be et




oo A
lhc cum:nt in a w:rc - e | .

only on thc potemiul dlﬂcrcncc tlpp"cd

: 1‘ dcpcnds
- 2.depends ¢ only on the re resistance ¢ of tl}g ,‘.”‘rf .
rcsisluncc an l_lccf\ !

: Bﬁﬂ'ﬁﬂds on both d polcmlul dl!‘fcw
7 docs noTEEpcnd on resmmnce and potcnti difference
Question 12 ’I‘ wo clccmc bulln lmvc reqlsmncca ln the ratio 1:2. If lhcy choincd in series, gbe cmgy
nsumed in them are m the rmlo ' ‘

Q“efitlon 13 When : current ’P ﬂows\ through o roplatance 'R for time 't the electrical cnérgy spcht‘ is

givcn by

- um
SIR’ R
: ie; 417 R/t..j‘_- B




